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Y () =y, () Yi(t,) = Ya(t, ) +hy,(t,)
Y5 (1) = y5(t) =1 Y, (t,) =Y, (t, ) +hys(t,)

Y3 (t) = %(tyz O-sin®)y, ) +t°) | Y(t,) = Ys(t,0) +2(tny2 (t,) —sin(t,) v (t,) +t,°)

.h :% oy y(1)7anawn .a
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y;(h) =y,(0)+hy,(0)=h=0.5
y,(h) =y,(0)+hy,(0)=1-h=0.5

y,(h) = y,(0) +g(0y2(0) ~sin(0)y,(0) +0) =1

y,(2h) =y,(h)+hy,(h) =0.5+0.5*0.5=0.75
¥,(2h) =y, (h) +hy,(h) =0.5+0.5*(-1) =0

y,(2h) = y,(h) +g(hy2(h) —sin(h)y, (h) +h*) =—1+0.25%0.125—0.9662
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y (1)=0.75
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function dy =1 (t,y)

dy = zeros(3,1); % a column vector
dy(1) = y(2);

dy(2) = y(3);

dy(3) = 0.5 *(t*y(2)-sin(t) * y(1)+t"3);

[t,Y] = oded5(@f,[0 1],[0 1 -1],0ptions);



